Chapter 18 – Practice Questions


1. 
Sonya, a citizen of Denmark, produces boots and shoes that she sells to department stores in the United States. Other things the same, these sales

a.
increase U.S. net exports and have no effect on Danish net exports.

b.
decrease U.S. net exports and have no effect on Danish net exports.

c.
increase U.S. net exports and decrease Danish net exports.

d.
decrease U.S. net exports and increase Danish net exports.


2.
Net capital outflow refers to the purchase of

a.
foreign assets by domestic residents minus the purchase of domestic assets by foreign residents.

b.
foreign assets by domestic residents minus the purchase of foreign goods and services by domestic residents.

c.
domestic assets by foreign residents minus the purchase of domestic goods and services by foreign residents.

d.
domestic assets by foreign residents minus the purchase of foreign assets by domestic residents.


3.
Which of the following would be U.S. foreign direct investment?

a.
A Swedish car manufacturer opens a plant in Tennessee.

b.
A Dutch citizen buys shares of stock in a U.S. company.

c.
A U.S. based hotel chain opens a new hotel in Brazil.

d.
A U.S. citizen buys stock in companies located in Japan.


4.
Which of the following is an example of U.S. foreign portfolio investment?

a.
Albert, a German citizen, buys stock in a U.S. computer company.

b.
Larry, a citizen of Ireland, opens a fish and chips restaurant in the United States.

c.
Ruth, a U.S. citizen, buys bonds issued by a German corporation.

d.
Dustin, a U.S. citizen, opens a country-western tavern in New Zealand.


5.
When Microsoft establishes a distribution center in France, U.S. net capital outflow

a.
increases because Microsoft makes a portfolio investment in France.

b.
decreases because Microsoft makes a portfolio investment in France.

c.
increases because Microsoft makes a direct investment in capital in France.

d.
decreases because Microsoft makes a direct investment in capital France.

6.
When Ghana sells chocolate to the United States, U.S. net exports

a.
increase, and U.S. net capital outflow increases.

b.
increase, and U.S. net capital outflow decreases.

c.
decrease, and U.S. net capital outflow increases.

d.
decrease, and U.S. net capital outflow decreases.


7.
Suppose that a lobster in Maine costs $10 and that the same type of lobster in Massachusetts costs $30. People could make a profit by

a.
buying lobsters in Maine and selling them in Massachusetts. This action would increase the price of lobster in Massachusetts.

b.
buying lobsters in Maine and selling them in Massachusetts. This action would decrease the price of lobster in Massachusetts.

c.
buying lobsters in Massachusetts and selling them in Maine. This action would increase the price of lobster in Massachusetts.

d.
buying lobsters in Massachusetts and selling them in Maine. This action would decrease the price of lobster in Massachusetts.


8.
According to the theory of purchasing-power parity, the nominal exchange rate between two countries must reflect the different

a.
price levels in those countries.

b.
resource endowments in those countries.

c.
income levels in those countries.

d.
standards of living between those countries.

Use the (hypothetical) information in the following table to answer the following questions.

Table 18-1

	Country
	Currency
	Currency per 

U.S. Dollar
	U.S. Price

Index
	Country Price

Index

	Bolivia
	boloviano
	 8.00
	200
	 1600

	Japan
	yen
	125.00
	200
	50,000

	Morocco
	dinar
	 10.00
	200
	 2,000

	Norwegian
	kroner
	 6.5
	200
	 1,500

	Thailand
	baht
	 40.00
	200
	 7,000



9.
Refer to Table 18-1. Which currency(ies) is(are) less valuable than predicted by the doctrine of purchasing-power parity?

a.
boloviano and dinar

b.
yen and kroner

c.
baht and kroner

d.
baht


10.
Suppose the Canadian nominal exchange rate does not change, but prices rise faster in Canada than in all other countries. Based on this information, the Canadian real exchange rate

a.
does not change.

b.
rises.

c.
declines.

d.
There is not enough information to answer the question

ANSWERS:

1=D, 2=A, 3=C, 4=C, 5=C, 6=D, 7=B, 8=A, 9=D, 10=B

